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Time : Three hours

10.

11.

12.

13.

14.

- If x =cos@+isiné find the va

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN .nﬂmmﬂo.bm. A

Let @, B, 7 are the roots of ax®+bx*+cx+d=0.
Find the values of Zx and Zaf.

a, B,y erémuer . ax® +‘Avx~. +cx +& =0-an epomigeT
orens. Tx opmbd Zaf eeauameupBlen wiysamend:
HTERTS.

Form the mﬂﬁﬂﬂo? one of its H.o.o.ﬁm is V5 + V3 .
)\.ml..j\w ﬂm&,c@_ @@ epeld erafled .nﬂmmsaur._:_.l%_..._

2_(HEUTEHEGS. :

If @, B, ¥ are the roots of x +px? +Zx+r=0, find
the Za®. .
X} +px?+Zx+r=0-dn pomsdr @, B,y erafle

Tad -eow srems.

1 opsc o) - ladva ond

Write down the value of (cosé +1sin8)".

(cos @ +1sin )" —an LIS HraRTs.,

-. g.
x =cosf+isind erafléd x" +— & HL-Q sTs.

o=

Prove that sin(x +27)=sinx.

" sin(x +27) - mwba,.ﬂma Pmays. .

PART B — (5.x 5 = 25 marks)

Answer any FIVE psmmﬂ_o.um.

If two of its mndmﬁob x° - 4ax? |wx+Hm 0 are
opsm_ solve the equation.
2 427 —3%+18=0 eranp FOMUIM 146 BHAPIEISET

gwLd eraflé SFFivaTUT L& STEs.

Solve 2x° - Tx® +4x+3=0 if 1++/2 is a root.

1442 g0 wob aafld 22° 7o' +4x+3= oé.

&iés.
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15.

16.

17.

18.

What are the two types of a reciprocal equation?

R FODEDEFETLITL i 61 G)(HOUHSSEET TG
Expand (1-x)2,

1-x)* |% %_igma@&.

Expand (1+x)™*.

(1 +x)™ -gg eflflauréses.

Prove that 2<e<3.

2<e<3 eran Hlmeys.
e CPRLel o1 1
Find the value of Iﬁm + Iw :
- 2 e

H _. .
MT + Mu EmﬂS&D%D%&:aﬂ@.

m.:pm the <m?.m of _omﬁ i aw .
X

H+a ..
HomT xw |§5&E@Em$:§m
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Show that the masmﬁob %" —3x* +2x% -1=0; has

atleast four imaginary roots.

x"-3x*+2x° ~1=0 erémp FWELITGH GODBSUL_FD

BTENE  SHUMET  (PERISMETE QaEmanTq (BE@L  6re

Hoays.

m:EeoSeWmmoEom H+w+mm 2:5-8

6 6-:12 mHmHm

2 2.5 2-5-8
1+=—+ + +...00
6 6-12. 6:12-18

ausuevrer ?P@m@.@:@&gﬁw e,

GTETM Q.@:FE@ ©

_ 2. 4
Prove that NT + Qow_:v + Qowﬂsv -+ S% =n+ F

: .00 (=N +— eram ]
TR w o Hlmeys

.mTf,oomsz dogn)* | Q "9

Prove that ma.bmm =5-20sin® 6 +16sin 4.
siné
sinbo
N m 20sin? @ +Hmm5 6 erem flmyeys.
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19.

20.

21.

22.

.Separate into real and imaginary parts of

tan(x +1y) .

.nmlAR+&~v,, Werar Gl wHmID mB_.u,_asg E@.%&Q:&

| 19 &s.

PART.C — (3 x 10 = 30 marks)

»Pwﬁcow any THREE questions.

Solve the equation .»_w, = wpaw +2x+12=0 given

that /5 ~1 is a root.

)\w.l 1 g@m epobd - erar @mq@waﬁcﬁrﬁaﬂ.@:b%
xt - :aw+ 2¢+12=0 eTem FELOETLITL L iésayL.
Solve : 6x° —x* —43x +43x% +x—-6=0.

Sigs : 6x° —x* —432° +43x? +2-6=0.

Find the real root of x*+6x —2 =0 by Newton’s
method. ,

Ayt Lafler papowl Gamidd x°+6x-2=0-dr

Quwiepesmss Smes.
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23.

24.

Sum to « the series 5
1-3.5.7

1-3 1-3-5 :
+ + +..0.
2-4.68 2-4-6-8-10 2-4-6-8:-10
1-3 1-3.56 . 1:3-5-7 4 )
+ + +..00  erey

2:4-6-8 N.#.m.m..u.o 2:4-6-8-10
Qzr_eny © cuamFuierer sdsmas STamNs.

. Prove that i

0870 = 64cos” 0 —112c08" 6 +56cos® & — T cosd .

c0s76 = 64 cos §—112cos’ 6 +56c0s> @ —Tcos @
eren Flmieys.
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